A & 0l & AFE B Al A

20235 = 2 5| UBte|H ol
M oI
Hu: EXNFENR B2
Sl XIETHEAL 2t2 (EERSED)
2A - HH . H(SH) - MRAIY - BES Of] &K J &3 o Hws2
ol 4,350,199 2,879,046 1,471,153
= 451,077 451,077 0
& 26,720 6,720 20,000
= 3,872,402 2,421,249 1,451,153
EXNEEZ  2el 3,950,793 2,479,793 1,471,000
= 413,316 413,316 0
== 26,720 6,720 20,000
= 3,510,757 2,059,757 1,451,000
KIETHZEAL 22l 3,168,377 1,717,377 1,451,000
= 413,316 413,316 0
= 2,755,061 1,304,061 1,451,000
KIETHZEAL 22| 2,755,061 1,304,061 1,451,000
201 22| 126,884 75,884 51,000
01 AtR2teld 107,480 56,480 51,000
Oget==2H| 99,640 48,640 51,000
OXIEMEZAL 22 2HEI =28
17,000, 0002 <34 XI 7 51,000 0 51,000
401 Al&HIZ 20| 2,613,777 1,213,777 1,400,000
01 Al&H| 2,613,777 1,213,777 1,400,000
OXIETHEAAIY ZH2 FAH2022 KIETHE
Al) 8,750,000 16024 1,400,000 0 1,400,000
S8 8 22| 596,706 576,706 20,000
& 20,000 0 20,000
o 576,706 576,706 0
TZAEZ CHHAIEZ &X 20,000 0 20,000
& 20,000 0 20,000
401 AIEHIZL 20| 20,000 0 20,000
== 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OTSETZ CHHAIZS &I
20,000,0002 20,000 0 20,000
== 20,000 0 20,000
HRES (012Dt 453 300 153
SRSONES 453 300 153
BA3 grez2 453 300 153
802 etz JIEt 453 300 153
01 =2082X30e2 352 300 52
02022 KIETHEAFAFR] O] KpeAyoH
230,000 230 200 30
02022 KIZZHE|IAFS O Xpgtagon
2,000& 2 0 2
02022 JIE2HSEAS ESHEHK(OIXF 2
&) 120,000 120 100 20
02 Al - EHIBZZEtE =3 101 0 101
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